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Cs 1 0.06 0.102 0.0 4.99
i-Cy 2 0.15 0.301 0.004 262
n-Cy 3 0.25 0.473 0.033 2.02
i~GCy 4 0.20 0.069 0.327 1.0

n-Cg 5 0.35 0.055 0.636 0.86
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JLIST

10 DIM F(8), D(8), B(8}, AF(8)

20 READ K, Q, HK, LK

30 FOR I=1 TO K

40 READ F(I}, D(I), B(I), AF(I)

50 NEXT I

60 X1=1:X2=AF(LK).SI={X1+X2)/2
70 F1=0:F2=0

80 FOR [=] TO K
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90 FX = AF(I) « F(I) /(AF(I) -SI)

95 F1=F1+FX

110 NEXT I

120 FS=F14+Q-1

130 IF ABS(FS)<0.0001 THEN 160

135 IF FS>0 GOTO 145

140 X1=SI:SI=(SI+X2)/2: GOTO 70

145 X2=SI:SI=(SI+X1)/2

150 GOTO 70

160 RM=¢

170 FOR I=1 TO K

180 RM =AF (1) * D(I) /(AF(I) -SI)+RM

190 NEXT I

200 RM=RM -1

210 PRINT «RM=7”; RM

220 NM = LOG(D(LK) * B(HK)/D(HK)/B(LK))/
LOG(AF(LK))

230 PRINT «INPUT RY:INPUT R

240 FR=0.76-0.76 * (R—RM)/(R+1)) A0.5668

260 N=(NM+FR)/(1-FR)

260 NN =LOG(D(LK) % F(HK)/D(HK)/F(LK))/
LOG(AF(LK))

270 ND=N x NN/NM

280 PRINT «THE RESAULT OF
CALCULATIONS:?

290 PRINT«MINIMUM REFLUX RATIO=7?; RM

800 PRINT «MINIMUM THEORETICAL
PLATES=7;NM

310 PRINT«THEORETICAL PLATES=?; N

320 PRINT<FEED PLATE NO.=% N-ND

395 DATA 5,1,4,3

400 DATA 05, .102,0,4.99

410 DATA |15, .301, .004, 2.62

420 DATA 25, .472,.033,2.02

430 DATA 2,069, .327, 1

440 DATA 35, .055, .636, .86

JRUN

RM = 93727376

INPUT R

71.16896

THE RESAULT OF CALCULATIONS:

MINIMUM REFLUX RATIO= 93727376

MINIMUM THEORETICAL PLATES=35,99979579

THEQRETICAL PLATES=14,180468

FEED PLATE NO, =8,45964354
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Ho NB hBERE, 170 IF ABS((DC—D)/DC)<0 0001 THEN190
K Dc RESEMBE DB, A%, 180 GOTO 40

) 190 PRINT ¢THE RESAULT OF
METAEFHRED: CALCULATIONS®?
D=D+Kp(Dc-D) (1) 300 PRINT«D=7; D

Ko IR RIRMBWMHE, BHAEFHB 20 PRINTNO 7« X7« v»
EHEZHBSRERER, MBSk 220 FOR I-=1TO NB i
18, T A EKD, KR RE RS, W 26 PRINTC %Le »X@m« YD
T Ko ff, R LB ABo~805, T ST

BFTET@O.ORFREINH, & 250 X(I)=Y(I)/(Y(I)+A % (1= Y (1))
RETEE (5 250~270 ) #MB, HEBHE 260 YI+1)= V(D) - K* (X(I-1) - X(I))
B ARBTITER Y De {8, AERIMF R W AGER KR 270 RETURN

#, BFE (Do—D)/De SMEUNFR—A 900 PATA 028 59,1020, 515, 5

WREE. KETREFEREREE o
Kk 1%, X A 0.000L (BE 170 A1), :490433047

Bl Bﬂﬁ%ﬁﬁﬁﬂﬁZHﬁV&% .483108129
BREMEHPRBA ST 4 KR 0.928, 488386405
B PR A FARY 0.5, VM  THE RESAULT OF CALCULATIONS
REER 1.5, ¥R LA L8 B0 10, BB 1‘3;-‘88295”9
B 20, SR 0 0 S AR 2 ' x .

1 .8957522896 .928

BERHERNT. 2 .8568506234 901001604
JLIST 3 .816659949 .869817405
10 DIM Y (100), X(100) 4 771083867 834782241
20 READ Y(1),D, V,NF,NB, Z, A, KD 5 .723094463 .796624362
25 DC=D 6 .674328279 .766445966
30 X(0)=Y(1) 7 6265630045 716617223
40 D=D+KDx (DC-D) 8 .581310063 .675598881
50 K=1-D/V 9 .539939641 .637739141
60 FOR 1= TO NF 10 .503235835 .603108856
70 GOSUB 250 11 L 4T2647671 573451296
g0 NEXT I 12 . 436692463 .537646767
90 Y(NF+1)=Y(NF)+(1+(1-D)/V)*«X(NF)-K 13 .395743004 . 495667749
*X(NF-1)-Z/V 14 350750479 .44762362

100 K=1+(1-D)/V 15 .303224767 . 394956807
110 FOR 1=NF+1 TO NB-1 16 2506662 .839324726
120 GOSUB 250 17 208279258 282952336
130 NEXT I 18 164646275 228184544
140 X(NB)=Y(NB) /(Y(NB)+A % (1~ Y(NB))) 19 .126480706 .177109167
150 DC=(Z-X(NB))/(Y(1) - X(NB)) 20 .0915128929 .131263202

160 PRINT DC
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